Model 5000 2:1 MR

professor
elevator

MODEL 5000 2:1 CABIN FRAME

ONUDW UOILD||04SU



professor
elevator




professor
elevator




professor
elevator

S © ©

# :_ ‘ @@J
A L 0.
.Y 8 ﬁ-

. [




professor
elevator




Installation Manudl

professor
elevator Model 5000 2:1 MR

Cabin Frame

Connection of Cabin celling and Cabin top frame, Cabin
holder for floor support

Nut M16 ISO 4161

Cabin conection plate for floor support
Cabin holder for floor support

Nut M16x35 DIN 6921

Nut M10 ISO 4161

Cabin vertical frame

Bolt M10x30 ISO 4162

Connection of Cabin celling and Cabin top frame
Bolt M10x25 1SO 4162

Holder

Nut M10 ISO 4034



professor
elevator




professor
elevator




professor
elevator




INnstallation Manual

professor
elevator

Cabin Frame

Stiffener for Cabin horizontal frame

Nut M12 ISO 4161

Plate

Cabin bottom horizontal frame

Bolt M12x35 ISO 4162

Stiffener for Cabin horizontal frame
Nut M12 ISO 4161

Bolt M12x35 ISO 4162

Stiffener for Cabin horizontal frame 2
Bolt M12x35 1SO4162

Nut M12 ISO 4161

10

Model 5000 2:1 MR



